
Fluent in five 

148 x 100 = 

9781 + 1200 = 

20,301 x 1 = 

6² = 

963 ÷ 3 =

SPAG 

Spellings
Put each word into a sentence. 

curiosity

guarantee

rhyme

sincere

suggest

Word of the day
Put your new word into a sentence

defence
1 : the action of defending from or resisting 

attack.
2: the case presented by or on behalf of the 

party accused of a crime



Fluent in five 

765 x 6 = 

1892 x 5 = 

1,798,000 + 1,809 = 

5 – 12 = 

481 x 12 = 

Spellings
Put each word into a sentence. 

hindrance

foreign

occupy

yacht

relevant 

Word of the day
Put your new word into a sentence

vile
If you say that someone or

something is vile, you mean that
they are very unpleasant.



Fluent in five 

685,271 x 0 =

25% of 400 = 

¼ of 16 = 

8.78 + 9.23 = 

91.69 x 100 = 

SPAG 

Spellings
Put each word into a sentence. 

harass

excellent

language 

physical 

queue 

Word of the day
Put your new word into a sentence

betray
If you betray someone who loves or trusts you, 

your actions hurt and disappoint them.



Fluent in five 

2/8 + 8/16 = 

716 x 4 = 

25,860 = _____ + 5000 + ____ + ___

0.5 x 90 = 

19,777 – 8,969 = 

Spellings
Put each word into a sentence. 

awkward

dictionary

immediate

conscious 

lightning

Word of the day
Put your new word into a sentence

haul
If you haul something which is heavy or difficult 

to move, you move it using a lot of effort.



Fluent in five 

718.1 x 10 = 

8912 ÷ 3 =  

7 x 3 x 6 = 

172 – 8 = 

10% of 680 = 

Word of the day
Put your new word into a sentence

wreckage
When something such as a plane,

car, or building has been destroyed,
you can refer to what remains as

wreckage or the wreckage.

Spellings
Put each word into a sentence. 

forty

ancient

explanation 

shoulder

thorough 



8912 ÷ 4 = 

76,201 + 919 = 

6.009 + 14.1 = 

_____ = 8000 + 300 + 7 

654,490 = 600,000 + ____ +  ___ +  400 + ___

Spellings
Put each word into a sentence. 

recommend

desperate

parliament

identity

awkward

Word of the day
Put your new word into a sentence

limp
If a person or animal limps, they walk with 

difficulty or in an uneven way because one of 
their legs or feet is hurt.



Fluent in five 

89,762 ÷ 2 = 

What is 16 less than 9? 

88,015 + 5 = 

3³ = 

197,786 – 9,682 = 

Spellings
Put each word into a sentence. 

identity

persuade

vegetable 

system

equip 

Word of the day
Put your new word into a sentence

consist
to be made up of 



Fluent in five 

____ + 700 = 676 

30 x 90 = 

180 ÷ 3 = 

7.947 x 1,000 = 

1/5 of 200 = 

Spellings
Put each word into a sentence. 

conscience

achieve 

parliament 

signature 

sufficient 

Word of the day
Put your new word into a sentence

process
a series of actions or steps taken in 
order to achieve a particular end.



Fluent in five 

7864 ÷ 8 = 

9 x 5 x 2 = 

98.32 + 12.1 

0.87 = ?/100 = 

7/8 + 3/16 = 

Spellings
Put each word into a sentence. 

aggressive

marvellous

government

muscle

cemetery 

Word of the day
Put your new word into a sentence

consume
1: eat, drink, or ingest (food or drink).

2: buy (goods or services)



Fluent in five 

9812 + 7860 = 

2776 x 100 = 

9811 x 9 = 

672 x 34 = 

1,866,048 – 89,098 = 

Spellings
Put each word into a sentence. 

familiar

leisure

individual

pronunciation

category

Word of the day
Put your new word into a sentence

culture
the ideas, customs, and social 

behaviour of a particular people or 
society



Fluent in five 

1,876 + 1,600 = 

762 x 8 = 

345 – 17 = 

10 x 4 x 6 = 

9.006 x 100 = 

Spellings
Put each word into a sentence. 

bruise

exaggerate

sacrifice 

interfere

criticise 

Word of the day
Put your new word into a sentence

strategy
a plan of action designed to achieve a 

long-term or overall aim.



Fluent in five 

9² = 

78,000 – 1500 = 

80 x 40 = 

480 ÷ 12 = 

10% of 1200 =

Spellings
Put each word into a sentence. 

harass 

hindrance

communicate 

according

conscious

Word of the day
Put your new word into a sentence

tradition
the transmission of customs or beliefs from 

generation to generation, or the fact of being 
passed on in this way.



Fluent in five 

______ = 800 + 12,800 = 

881,604 – 6,504 = 

2.86 x 100 = 

68,099 = 60,000 + ____ + ___ + ___

800 ÷ 100 = 

Spellings
Put each word into a sentence. 

competition 

equipment 

available

recommend 

twelfth

Word of the day
Put your new word into a sentence

reveal
make (previously unknown or secret 

information) known to others.



Fluent in five 

8110 – 1700 = 

____ = 8600 – 1800 

____ = 12976 + 2,012,801 

5 x (6 + 4) x 2 = 

6.817 + 18.102 = 

Spellings
Put each word into a sentence. 

prejudice

privilege 

attached

necessary

variety 

Word of the day
Put your new word into a sentence

circumstance 

a fact or condition connected with or 
relevant to an event or action.



Fluent in five 

672 ÷ 12 = 

_____ = 918 – 68 

119 + 867 + 221 = 

9 x 10 x 4 = 

115 ÷ 5 = 

Spellings
Put each word into a sentence. 

profession

disastrous 

programme 

convenience 

vehicle 

Word of the day
Put your new word into a sentence

constrain
compel or force (someone) to follow a 

particular course of action


